March 27, 2024

Team Summary Freshman Boys Dickinson

100 M Dash

Name	Time	Points	Place
Hunter, Marquay			
Long, Jaycob	11.345	8	2nd
Payne, JaMarion	11.227	10	1st

200 M Dash

Name	Time	Points	Place
Daniels, Jeremy	24.282	2	5th
Minteer, Jayce	24.830		
Valdez, JaBari	23.715	8	2nd

400 M Dash

Name	Time	Points	Place
McNair, Malcolm	1:00.519		
Richards, Jacob	52.819	10	1st

800 M Run

Name	Time	Points	Place
Cohens, Elijah			
Deleon, Rey	2:07.523	10	1st
Rodriquez, Matthew	2:09.751	4	4th

1600 M Run

Name	Time	Points	Place
Deleon, Rey	4:57.602	8	2nd
Rodriquez, Matthew	5:02.719	4	4th
Smith, Josiah	5:08.826	1	6th

3200 M Run

Name	Time	Points	Place
Crummett, Jordan			
Smith, Josiah	11:37.600	2	5th

4 x 100 (400 M) Relay

Name	Time	Points	Place
Ewing, Reece	44.681	20	1st
Long, Jaycob			
Payne, JaMarion			
Valdez, JaBari			

March 27, 2024

Team Summary (Continued...) Freshman Boys Dickinson

4 x 200 (800 M) Relay

Name	Time	Points	Place
Daniels, Jeremy	1:35.265	20	1st
Hunter, Marquay			
James, Ja'Maile			
Minteer, Jayce			

4 x 400 (1600 M) Relay

Name	Time	Points	Place
Ewing, Reece	3:41.788	20	1st
James, Ja'Maile			
Richards, Jacob			
Valdez, JaBari			

110 M Hurdles

Name	Time	Points	Place
Puccetti, Brandon	20.119		

300 M Hurdles

Name	Time	Points	Place
Puccetti, Brandon	50.758		

Long Jump

Name	Best Distance	Points	Place
Coleman, Darian	15-6 1/2		
Ewing, Reece	17-8 1/2	8	2nd
Walker, Jackson	16-9 1/2	1	6th

Shot Put

Name	Best Distance	Points	Place
Hancock, Braxton	35-7	6	3rd
McCorkle, Jackson	30-0		
Miller, Jordan	37-2 1/2	10	1st

Discus

Name	Best Distance	Points	Place
Hancock, Braxton	86-2 1/2		
McCorkle, Jackson	77-5		
Miller, Jordan	93-11	1	6th

March 27, 2024

Team Summary (Continued...) Freshman Boys Dickinson

Triple Jump

Name	Best Distance	Points	Place
Ewing, Reece			
Valdez, JaBari	36-8	4	4th
Walker, Jackson	37-2	8	2nd

High Jump

Name	Best Height	Points	Place
Daniels, Jeremy	5-0		
McNair, Malcolm	5-4	2	5th
Minteer, Jayce	5-8	9	1st

March 27, 2024

Division Point Totals Freshman Boys

Place	Team	Points
1st	Dickinson	176
2nd	LC Clear Creek	121
3rd	Clute Brazoswood	97
4th	Clear Lake High School	75
5th	LC Clear Falls	66
6th	LC Clear Springs	45
7th	Clear Brook	37

March 27, 2024

Division Results Freshman Boys

100 M Dash

2			
Place	Athlete	Team	Time
1st	Payne, JaMarion	Dickinson	11.227
2nd	Long, Jaycob	Dickinson	11.345
3rd	Le, Christopher	LC Clear Creek	11.617
4th	Brooks, Rowan	Clear Lake High Sch	11.689
5th	Smith, Avonte	Clute Brazoswood	11.826
6th	Williams, Chase	LC Clear Springs	11.875

3200 M Run

Place	Athlete	Team	Time
1st	Horn, Graham	LC Clear Creek	10:45.750
2nd	Robinson, Owen	LC Clear Creek	11:01.640
3rd	Pappas, Eli	Clear Lake High Sch	11:12.940
4th	Howard, Dominic	LC Clear Falls	11:14.240
5th	Smith, Josiah	Dickinson	11:37.600
6th	Tumey, Austin	LC Clear Creek	11:37.810

200 M Dash

Place	Athlete	Team	Time
1st	Lunford, Kieran	Clute Brazoswood	23.465
2nd	Valdez, JaBari	Dickinson	23.715
3rd	Le, Christopher	LC Clear Creek	23.854
3rd	Williams, Chase	LC Clear Springs	23.854
5th	Daniels, Jeremy	Dickinson	24.282
6th	Markham, Logan	LC Clear Falls	24.391

4 x 100 (400 M) Relay

J	Place	Athletes	
	1st	Long, Jaycob	Dickins
		Payne, JaMarion	
		Valdez, JaBari	
		Ewing, Reece	
	2nd	CB#1	Clute E
		CB#2	
		CB#3	

400 M Dash

Place	Athlete	Team	Time
1st	Richards, Jacob	Dickinson	52.819
2nd	Russell, Ethan	LC Clear Creek	54.800
3rd	DuPuch, Devin	Clear Lake High Sch	56.084
4th	Mitterling, Caleb	Clute Brazoswood	56.472
5th	Elizondo, Elliot	LC Clear Springs	57.639
6th	Hernandez, Leo	LC Clear Falls	57.842

800 M Run

Place	Athlete	Team	Time
1st	Deleon, Rey	Dickinson	2:07.523
2nd	Grenier, Aiden	LC Clear Creek	2:07.536
3rd	Mitterling, Caleb	Clute Brazoswood	2:08.623
4th	Rodriquez, Matthew	Dickinson	2:09.751
5th	Cruz, Austin	LC Clear Creek	2:12.959
6th	Fernando, Senesh	Clear Lake High Sch	2:15.612

Place	Athletes	Team	Time
1st	Long, Jaycob	Dickinson	44.681
	Payne, JaMarion		
	Valdez, JaBari		
	Ewing, Reece		
2nd	CB#1	Clute Brazoswood	45.638
	CB#2		
	CB#3		
	CB#4		
3rd	Brooks, Rowan	Clear Lake High Sch	45.875
	Pertuit, Jude		
	Daniel, JoVanee		
	DuPuch, Devin		
4th	Cresta, Mario	LC Clear Falls	46.805
	Reiman, Chase		
	Markham, Logan		
	Smith, Anderson		
5th	CB#1	Clear Brook	47.446
	CB#2		
	CB#3		
	CB#4		
6th	Williams, Chase	LC Clear Springs	49.722
	Tramposch, Parker		
	Corpus, Kaden		
	Rosas, Michael		

1600 M Run

Place	Athlete	Team	Time
1st	Horn, Graham	LC Clear Creek	4:55.689
2nd	Deleon, Rey	Dickinson	4:57.602
3rd	Robinson, Owen	LC Clear Creek	5:02.291
4th	Rodriquez, Matthew	Dickinson	5:02.719
5th	Gimber, Clark	Clute Brazoswood	5:08.233
6th	Smith, Josiah	Dickinson	5:08.826

March 27, 2024

Division Results (Continued...) Freshman Boys

4 x 200 (800 M) Relay

4 X 200 (800 W) Relay			
Place	Athletes	Team	Time
1st	Hunter, Marquay	Dickinson	1:35.265
	Daniels, Jeremy		
	Minteer, Jayce		
	James, Ja'Maile		
2nd	CB#7	Clute Brazoswood	1:36.357
	CB#8		
	CB#9		
	CB#10		
3rd	Hernandez, Ever	LC Clear Creek	1:37.960
	Murray, Cameron		
	Parks, J'Shon		
	Jones, Gavin		
4th	Reiman, Chase	LC Clear Falls	1:38.100
	Shaft, Landon		
	Markham, Logan		
	Smith, Anderson		
5th	Brooks, Rowan	Clear Lake High Sch	1:39.756
	Pertuit, Jude		
	Daniel, JoVanee		
	DuPuch, Devin		
6th	CB#7	Clear Brook	1:39.761
	CB#8		

CB#9 CB#10

4 x 400 (1600 M) Relay

Place	Athletes	Team	Time
1st	Valdez, JaBari	Dickinson	3:41.788
	Richards, Jacob		
	Ewing, Reece		
	James, Ja'Maile		
2nd	CB#13	Clute Brazoswood	3:41.984
	CB#14		
	CB#15		
	CB#16		
3rd	Russell, Ethan	LC Clear Creek	3:44.639
	Grenier, Aiden		
	Hernandez, Ever		
	Parks, J'Shon		
4th	Markham, Logan	LC Clear Falls	3:52.888
	Hernandez, Leo		
	Clark, Jonah		
	Smith, Anderson		
5th	CB#13	Clear Brook	3:53.511
	CB#14		
	CB#15		
	CB#16		
6th	Gardner, Daniel	Clear Lake High Sch	4:11.358
	Hawkins, Thomas		
	Barrera, Diego		
	Mendez, Orlando		

110 M Hurdles

Place	Athlete	Team	Time
1st	Kittlinger, Larry	LC Clear Springs	16.236
2nd	Zamarripa, Rhys	Clear Lake High Sch	16.304
3rd	Pennington, Carson	LC Clear Springs	16.452
4th	Beal, Landon	Clute Brazoswood	17.347
5th	Clark, Jonah	LC Clear Falls	17.504
6th	Martinez, Noah	LC Clear Creek	18.428

300 M Hurdles

Place	Athlete	Team	Time
1st	Clark, Jonah	LC Clear Falls	43.410
2nd	Kittlinger, Larry	LC Clear Springs	44.970
3rd	Rayburn, Braden	Clear Lake High Sch	46.838
4th	Hughes, Levi	LC Clear Creek	46.968
5th	Zamarripa, Rhys	Clear Lake High Sch	47.690
6th	Beal, Landon	Clute Brazoswood	47.710

March 27, 2024

Division Results (Continued...) Freshman Boys

Long Jump

Place	Athlete	Team	Distance
1st	Kim, Joseph	LC Clear Creek	18-11 1/2
2nd	Ewing, Reece	Dickinson	17-8 1/2
3rd	Brooks, Rowan	Clear Lake High Sch	16-10
4th	Cresta, Mario	LC Clear Falls	16-10
5th	Parks, J'Shon	LC Clear Creek	16-10
6th	Walker, Jackson	Dickinson	16-9 1/2

Pole Vault

Place	Athlete	Team	Height
1st	Smith, Anderson	LC Clear Falls	10-0
2nd	Harrington, Caden	Clute Brazoswood	9-6
3rd	Jones, Carson	LC Clear Falls	8-6
4th	Trujillo, Aaron	LC Clear Falls	8-6

Shot Put

Place	Athlete	Team	Distance
1st	Miller, Jordan	Dickinson	37-2 1/2
2nd	Scott, Joe	Clear Lake High Sch	35-10
3rd	Hancock, Braxton	Dickinson	35-7
4th	Rodriguez, Jorge	Clute Brazoswood	34-4 1/2
5th	Sansalone, Brandon	LC Clear Springs	33-5
6th	Logan, Raige	Clear Brook	32-6 1/2

Discus

Place	Athlete	Team	Distance
1st	Scott, Joe	Clear Lake High Sch	118-6 1/2
2nd	Kern, Marcus	LC Clear Creek	112-9
3rd	Graun, Alex	Clear Brook	106-11
4th	Smith, Ben	Clear Brook	104-11
5th	Gonzalez, Rolando	Clute Brazoswood	95-9
6th	Miller, Jordan	Dickinson	93-11

Triple Jump

Place	Athlete	Team	Distance
1st	Garivay, Rafael	Clear Brook	37-4 1/2
2nd	Walker, Jackson	Dickinson	37-2
3rd	Katchy, Manuel	Clear Brook	36-9 1/2
4th	Valdez, JaBari	Dickinson	36-8
5th	Jones, Gavin	LC Clear Creek	36-8
6th	Beal, Landon	Clute Brazoswood	35-5

High Jump

3 1			
Place	Athlete	Team	Height
1st	Minteer, Jayce	Dickinson	5-8
1st	Kittlinger, Larry	LC Clear Springs	5-8
3rd	Martinez, Noah	LC Clear Creek	5-6
4th	Smith, Ben	Clute Brazoswood	5-4
5th	McNair, Malcolm	Dickinson	5-4
6th	Lunford, Kieran	Clute Brazoswood	5-2